Math 1711 Exam 3 Spring 2014

Instructor: Sal Barone (A)
Name: K EM

GT username:

Circle your TA /section: (D1) Ashley (D2) Kayla. (D3) Alyssa (D4) Aileen

1. No books or notes are allowed.

2. You may use ONLY NON-GRAPHING and NON-PROGRAMABLE scientific calcu-
lators. All other electronic devices are not allowed.

3. Show all work to receive full credit.
4. Write your answers in the box provided.

5. Good luck!

Page | Max. Possible | Points

1 22
2 26
3 28
4 24

Total 100
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1. A fair four sided die is a die that has the numbers 1, 2, 3, and 4 and each is
equally likely to be cast (it looks like a pyramid). Two fair four sided die are cast
and the sum of the numbers shown is recorded. Find the expected value of this
experiment. (12 pts.)
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2. Suppose X is a normally distributed random variable with y = 15 and o = 4.

Find Pr(7 < X < 20) and Pr(X > 20). (10 pts.)
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3. A promoter is considering buying insurance for an outdoor concert. Insurance
costs $5,000 and pays $25,000 if it rains. If it doesn’t rain, the concert will earn
the promoter $30,000. Suppose the promoter calculates his expected earnings in
each case of buying or not buying insurance after seeing the weather report. If
he decides to buy insurance, what is the lowest chance of rain that he could have
seen on the weather report? (16 pts.)

yl= P“’O‘EH’ {'F b‘-\‘as Wwlustan c e

X2 = prodit & doet Vor buy ieSucance
p= choance od ra\N

E(X) = 20p + 289

E (x2) = Op + 30g
E(RD 2 E0) > 20(>+Z‘51> Op +307/
é ZOfaSti‘: ‘5(\-‘?\

= 2Bp2 § = f"‘f”s

4. The lengths of six caterpillars in my backyard are recorded below (in millimeters).
Calculate the mean, sample variance, and standard deviation for the following
data: (10 pts.)

20, 24, 28, 28, 30, 32.
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5. An experiment consists of 30 binomial trials, each with a 20% chance of success.

(a) Find the probability of exactly 5 successes (do not estimate). (8 pts.)
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(b) Estimate the probability of at least 5 successes. (12 pts.)
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6. An experiment consists of n binomial trials, each with a: probability of 15% of
success. If the expected value of the experiment is 45, then what is n? (8 pts.)
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7. A committee of three people is to be selected at random from a council consisting
of five men and three women. What is the expected number of women on the
committee? (12 pts.)
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8. Estimate the probability of observing at most 30 sixes in 120 rolls of a fair die.
(12 pts.)
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